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BUSINESS MATHEMATICS AND STATISTICS

| Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

Q. No. 1 carries I mark each : 1x8= 8
Q. No. 2 carries 2 marks each Y 2x5 = 10
Q. No. 3 carries 3 marks each : 3x5= 15
Q. Nos. 4-10 carry 5 marks each . 5x7 = 35
Q. Nos. 11-14 carry 8 marks each : 8x4 = 32
] Total = 100
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(2)
1. Answer the following as directed : 1x8=8
were TRAARA WOrFies Tes ford
FareslkE Me™EPIE Teq @
(@) 1 acre =_____ sq. yards.
| (Fill in the blank)
1939 =__  3fom|
(N 3% =7 1)
1 999 = 5f o5 |
(XTI *[Fe1 )

(b) The first number of g simple ratio is called

(Fill in the blank)

D1 TR SIS 212y oy AT = |

(& 31 2ot 354)

46 T SRR 219 e @ |

(R =7 M)

(c) The area of regular hexagon ig

<5 TR TTER IR

ﬂﬁwmmm l

(Fill in the blank)

(120 312, sfer <)

(=R et vz
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(3)

(d) When will one root of a quadratic equation be always
equal to zero?

(e b1 faEre FNER b1 o SR X 27 2
T Gfb @GS TR G JeT M X7y =7 ?

(e) All facts expressed are not statistics.

| (Fill in the blank)
SIE 2P IR AICE O AL 7Y |

(1R 3% =791 F74)
©IC AP FAEIR TP O AR 27 7 |
(TR <[R9 )

() The row head in a statistical table is called stub.

(State True or False)
Q3= ARPTRISE Siferere MR PR R e =7 |

(3T} (1 =pTey for)
&35 ~RRIF eI MSER Reammes iR <o =7 |

(377 1 SPTe) (o)

(g) Find the distanc.e of the point (a, - a) from the origin.
TR oM (a, — a) KR e fidf |
TR (ACF (a, — a) s e Rl <)

(h) If logg.g1 x = -1 then find x.
i logp.o1 X = 129, (3 x fefyy 331 |

ﬁlOgo_OIJC:“lQ:W xﬁ‘mml
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(S)
(4)
: _ xB=10 (e) Show that the point (-2, —-11) is equidistant from the
2. Answer the following questions : 2%x5= points (-3, 7) and (4, 6).
o erpTRe eq T e @ (-2, -11) Reht (-3, 7) W (4, 6) Repm sva®) |
e shE ey we - e @ (-2, -11) R (-3, 7) @k (4, 6) Rracs SRS |
: the following questions : 3x5=15
(a) Find the value of— 8. Answer the &4
SO 2PPTRY Ted ford
T Fefg a1 e ey Sed (el
T Tefe e (a) Show that the points (4, 0), (10, 6) and (1, 3) form
0-0018x0-05 a right-angled triangle.
0-18 ed @ (4, 0), (10, 6) == (1, 3) Reredfz @B swed
(b) Find the di al of o T
ind the diagonal of g ‘ ; P el
g Square whose sides are 5 cm w8 @ (4, 0), (10, 6) @k (1, 3) RmsF <=l g
51 T T Y 5 Cm ' R 07 T et v | farper o167 3G |
D IoMCFCT 12 1 5 Cm & G AT orey ofyy e | (b) Ifa* = bY = ¢? and b* = ac, then prove that L4122
xX z y
(c) Divide ¥ 1,260 among A, B and Cin the ratio _1_ l l M a* = bY = % T b? = ac, CoC% 2T F9 Cir—1-+l=-2—,
56 3 x z y
1,260 591 A, Bu ¢ 111 _ Y= % a3k b2 = ac, o el e g Lo Lo 2
ng.g_gwﬁ—wwmﬁwi I a* =b c? G ’ x z y
1,260 B9t A, B 9. C - L1 ] i contains paint and spirit in the ratio 75,
R R N N c) A mixture pal ;
56" 3 REMISARLRICRIE (©) If the volume of paint is 56 litres, then find the total
: volume of the mixture.
(d) Find the valye of . o PG R GO R 1% ARG SFperre 71 5. 3f Rwerchrs
Wﬁﬂ‘ﬂw 56qum,mcmﬁmm°ﬁmqﬁﬁw|
T Fef ey ® ax PREGA @0 I R @R PR e 7:5. o
fRprerfce 56 PR R W, O Tl fmafby orfme Ry e |
log __1__
22 62
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(6) (7))

(a) it —2— mile =1 km, express 49200 metres in miles. (b) If the parallel sides of a trapezium are 24 cm and
52 cm and the remaining two sides are 30 cm and
T 2 izl = 1R, 49200 Rome TS 2rwrt 41 | 26 cm, then find its area.
I @B GRIRAMT SEaE IR TR (@™ 24 cm AF 52 cm
T 2 wize = 1R/, 49200 Ror ’
s fRomce e et e | W FF PR @< 30 cm F 26 cm W, (33 A A el
(e) If b 0, th ‘ b
e a+b+c=0, then prove that :
1f «afs TififmcTm SwearE A 19 W61 24 cm 9R) 52 cm,
IM a+b+c=0, (SR 209 79 @ g9 3% 7o M7 30 cm IR 26 cm 2, ORE o] CFage
A% a+b+c =0, OrgE 29 @ @ fRefer <pa |
1
- 1 J 1 I 5. Answer either (a) or (b): 5
HRTH, xS Y41 O x% 4P 4 ]
(a) S0 (b)zﬁ‘ﬂﬁ fua
4. Answer either (a) or (b) 5 (a) 5@l (b)-4q TS TS :
(a) 14l (b)¥ eq fayy . : (@) Kabir buys an article at 25% discount on the list price

and makes a profit of 10% by selling it at T 660.
Find the list price.

T ﬁﬁﬁwﬁﬁwew%%ﬂ"@%mw%ﬁmw _
g T 100 per kg with tea ; 505
. 6 OWﬁﬁﬁsﬁ 10/0?11@‘%51366{1%@\ ANERGERIGS) W?

lling the mixture at T 108 5 i il
f 20%. In what proportion

(aj B=A1 (b)—dlﬁ W e .

(a) A trader mixed teg costin
costing T 75 per kg, By e

el‘k,he e
per kg, he made a profit 4 <3 o TR TE 25% GRR T G0 T W I 4R

did he mi :
mix the two kindgs? Wﬁ%owﬁﬁﬁmlo%mmiwﬁﬂ@ﬁqu@?
q& PR o
SRR ::;Z;OO WW&?{W ofe .2 75 51 w9 () How many metres of cloth of 1.1 metres wide will be
@ =R 209 | TR bRt 2ffs e 108 Bt T required to make a conical tent whose vertical height
. o G Wl @ﬁm 'ﬁi is 12 metres a_]fld radius of the base is 16 metres?
el afde, ey =1 | TTeS TrY BRI Find also the cost of cloth used at the rate of T 3.50
TP aif per metre.
75 bt T o f"ﬂ‘- 100 51y Bi-orrel, 2f Rl 10 fibr e SO S 16 FOR GR ey obr g
108%@%%%2 © 3¢ | TS B-omer afe . W@—gmﬁwﬁl-lﬁﬁﬁwﬁ‘ﬂmﬁﬁﬁwww
S 0, 3
AT D=9 Ry . ﬁg:;?zﬁ!mﬁm%[wm?ﬁ i,q?ﬁ%ﬁmeWS.SOWQZH@WWQw?
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(92)
(8)

9. If x=1logy,a, y=logz,2a and z=1log,,3a, then show 5

12 fom Saw ThoRiE ik 16 Rom s arndRiE oot that 2yz-xyz=1

wrgpied O tedl Fe 1.1 fom 2z Fo fm Fere acae

203 7 2% Rom Fesa 7 3.50 Bl 2 (b F© X5 2 2 W x=10gz, 2,y = logs, 2a ¥ 2 =logy, 3a, oW S @

2yz - xyz =1
. ‘ ny, ; ; = = qaR z=1 3a e
6. Discuss briefly the uses of Statistics in business and I x =logy, a, Y=1logz,2a R 084, 3a, S
COmMmMErce. 5 2yz—xyz=1
TPIR-TETS 2Rl Reems e 53t forat | _ Or / W& / <131
PR -Aces “ifiam Reercrm IRE FREFC! I | 2 men and 7 boys can complete a work in 14 days, 3 men
and 8 boys can complete that work in 11 days. In how
Or / 1231 / 5337 many days 8 men and 6 boys will complete three times
Write a note about the reasons for distrust of men of this work?

towards Statistics.

2w TR AF 7 T AR B PN 14 fe om R o 1 wied

IR RS 2% TR SRP et ST b Corenr B | Smwwswﬁ’ﬁﬁﬂmwugﬁmimg
i 8 T« HF 6 T o192 9= e ooy
ﬁﬁ\ﬂnﬁ@mﬁ%mw?ﬁmwﬂﬁ%mw m%ﬁmm TR
?
: : @3 F& 14 e R F30e @ | w[E
7. Show that T:he points (-], -1), (1, 0), 0, 2) and (2, 1) 2 T WAE ER 7% = eyl e
are the vertices of a square : ’ & 3 & R <R 8 & G2 I CR TS A |
3 . @Wﬁa@qmsmw‘mﬁmwﬁmmm
s & 1, -, (1° 0), (0, 2) O (-2, 1)1%1—..@@ 451 5T
MR | R ?
L T : ion? What its objects?
mﬁ f; CT[ =1, -1, 1, 0), (0, 2) 3¢ =2, 1) ﬁj@ﬁ‘ 9T 9eleFrad 10. What is tabulation? What are d 5
Sifrereee 3 7 2R Soe [ 2
Sl 912
8. Solve : : SifeEER 17 @
ST 9 11. (@) Distinguish petween graph and diagramg, 4
ST I WWWWWWWI
" o7 AT (AT |
GJm X+92 Gkl hﬂﬁ\ﬁma’c
Sl
VI =5 - [ Contd.
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12.
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(b) Write

(@)

(b)

( 10 )

any four
guestionnaire.

g3 S 2Pgeiad R Qe BIRGT eicear @ B |
Gf6 S ZIRAR @ PICT SR 2 89 e |

essential qualities of a good

What are the advanta :
ges of samplin
method? pling over census

25T “1wT SoreTre © P orafed HRpz R f 2
ﬁﬁmwﬁoﬁwmﬂwwﬁﬁﬁﬁmﬁi%%?

Prepare a blank table, showing the distribution of

employees in two industri ,
es :
characteristics : according to the following

T ST b R
q%ﬂ % \DE\D 3
TR 07 o o o o s

7o PE e e

(i) Sex (M/F)

(i) Literate /Uiterate
P /wfifies
i /s

4

4

4

(11 )

13. (a) Write a note on histogram.
3B 2ITe @oiT® @Bl (BI ford |

RBEBIEER B2 @< b el |

(b)) What precautions would you take in using
secondary data?

(STl 92 TS TS o7 eIl ARSI 5 % 2
cﬁq@%aﬁwmﬁ%mm@@ﬁt%i%?

uency distribution table from the following

14. Prepare a freq
20-30, 30-40, etc. :

data taking class interval as
ez 20-30, 30-40 2@l (A1 ©F SURMT [l 93 IRIR@

Foree oifer! 2ge ¥4 -

e 20-30, 30-40

ee Sifers! 289 Al
40 21 S sl 74023 37 96 59 77

32 30 65 59 60 51 42 66 64 43
50 44 66 58 61 62 44 56 72 69
65 o7 48 63 67 75 53 45 63 65
g5 54 55 58 50" 83. 7555 56 51

/S ety 91/ R 70 ey FE—

f each class;

zorifi 2 e Sl (3 ¢ el

Also find .
(o) the frequency density o

ofsrsl A RIS T,

(b) thep ercentage of students getting marks less than 70.

7Oﬁmﬂmmmmﬁﬁwml

1 QAR el 2 |
i
70 ¥4 e

4

4+2+2=8
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